202251187
X 7 + i —rﬁ— & =
Emiy | S
m m m
I x v/ A (JIGEFHE) 201,195 40,911 126,755 |nH IR 2L
ZRERAR (FAiT) 714 2,799
B ED 1,921 7,631 [EXFERE
BEFE. ABEFH 4,132 16,554 FEVERIRE
BEETFI 6,952 34541 [IBEEITF 201238
AR FE _ 5047 | 22,187 |E B RFIFER-2- 358
EYERE P ERS 1,396 1,504 AHERE . BERBERE, HENTH. WHNTE, HHEBRAEE
BEHIRE 864 864
KYEERE 53 53
BEBBER 1,301 4292 EEES I
KEHR— 820 831
RREEL 42— 261 479
IRFaT) R F— 250 774
HIGFEERMEER 515 1514
S 2,035 6,826
BEFERLEL 2— 361 683
A S 1EYAE(20185.14~) 0 155 | E D& BT ebo 5 BB A
% H B9 R ER 65 130
RE R 4,863 5293 |F12ABRE. FL—— o 3—. IR REh. 5ab |
FETRRXR/NIR 130 75
FHELH— 782 1,400
FEXEE A— 345 656
AFEE (KT 877 2.166
FERE 1,592 1636 |[E1-2FEB %
S EENE 515 1976
FAEFEE 2237 7,466
RIER 2% 180 180
BIER2ERILEL = 93 93
CESREY 69 69
He2E B 168 336
SR HE AR 44 48
Rt Tt oiR Al 2— 817 1,845
Dt 1,512 1699 [EERUVRE =
HEEIEEPIAVACN 15iki) 54,688 8,433 15,267 | —
HEFHHESER 748 M |EE DEREESs
BB P E R R T A e 3,078 5445 |RE. AR
BEFAHEEERE TR EEERE 3,325 6479 [XE. KBS
WEH S FHEL 2 — 804 1,953
R AR ERTE A — 478 478
EX v /N\R(ER ) 222,625 43,061 133,148
AER(HE) 981 3,351
i35 661 1,965
ESE 1,180 4525
631 4997
903 4,647
1,211 6,587
601 2312
754 3,715
333 1,335
395 1,171
| E-HEHER 216 420
ETCEGITERET 207 415
Fa—btUTIVEE 184 368
Bl PR 7 Fe AR 884 1,434
g R E BRI A TBHE) 846 2,268 [ EF LRI Zeabrd
RI- NP R ER R 2% 1,201 3,944
RI 2 # 193 428
ER KRR (HE) 412 843
ItEMEE (HE) 1,026 2232
AEE 1,315 1,175
FOEEE 457 422 |FoEs. B ERE s
AFREHE 833 1,998
EFi= 451 586
REM 186 186
FEEEE 984 4,007
ARIBEZER 200 188
i&ﬁ@#ﬁi?ﬁtz@—(ﬁbuﬁ) 773 2,480
i I B B 14,038 | 57,972 |5V K- P REER. A-B-CIakk
BITILF—ZER 1,156 1,270
MRI—CT&%& 531 531
175 482
_L1$%I$tﬁ 3,921 7771
R E 1,923 2,567
EESTBEAIREE - R BT 300 300
Be/KALERfER B B R 340 336
RI%JHKMIEEEEE 216 259
HEEER 215 410
BENMEE2— 463 1,074
PN 25 486 769
FEREMHK 150 145
ZRAEEN)T—SAR—R 180 180
D 949 1,083 [/ \O VI AR—REE (EDE). BEE XU A
74—)b|~‘§§§ BB DTA 5,990,145 6./54 8.404 - -
DA R HNEE DT R ER R F—
AR (S ER-TR-—/AFEH) | 5804,845 531 70 =i aai. ER et Rl aats
E%ifﬂ%"ﬁﬁ(m‘ -fFEE#) | 180,713 5,329 6,159 [REE i)
3 = I [ #h) 4,587 894 1,506 [T B =R p)
15,056 1,891 2.786 | _
3,457 410 37T |TRAFa7 ) — Rt —FEa =
1,350 668 1,141 B ATAZS (FaiL)
3,182 435 830 |EFR3 R EE (FiT)
4,864 74 74 %ZL (T=R3—k, R 15)
1314 304 364
889 0 0 .%'i?f%




	P54_土地・建物

